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2ax — 4ay 5 Q1-E5|SHH?

® 2(ax - ay)

@ 4(x - 2ay)

@ 2a(x - 2ay)

® 4da(x-2y)

@Qa(x —2y)




> 4x% + 2xy 9] 147} obd 7122

® x(2x+y) @ 2 ® x
@y ® 2x+y

4x2 + 2xy = 2x (2x + )
Q=1 1, 2, x, 2x+y, 2x,2(2x+y), x(2x+y), 2x(2x + )




150% - 149? = 150 + 149 & A@sh= ol Bak e 24
T2H?

@® a® + 2ab + b* = (a + b)?
@ a?-2ab+b* = (a—b)?
@)a? - 12 = (a+b)(a-b)

@ x*+ (a+b)x+ab=(x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)

1502 — 1492 = (150 + 149)(150 — 149) = 150 + 149
m2tA] o] 881 FAL2 a2 -b? = (a+b)(a-b)
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@ th2 1o ADEB = ABCA ©|t},

© ADBA = /DBA = 90° ¢l o]5HAZ o},
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@ a?+bp*=c?

1 1 1
(a+b)la+b) = §ab + §ab + §c2
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@® oDECA = ADEB + ADBA
@ oODECA = AABC + ADBA
® oDECA = ADEB + aAABC
@ ODEBA = ADEB + AABC + ADBA

(5)oDECA = ADEB + AABC + ADBA
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@ oS =4 ADEB = ABCA ©|th,
© ADBA = /DBA = 90° ¢l o|5 Azt o]t}
© oDECA = ADEB + AABC + ADBA
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1 1 1
(a+b)(la+b) = iab—i— iab—i— §c2
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@ 5cm (@)5\/§cm ® 5v3cm
@ 6cm ® 7cm
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SinA = % A o, cosA + tanA 9] g9
16 V7 @ 177 27
27 27 3
@ 19V7 20 V7
28 27
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12. 0°<x<90° < o, o}

@ -1<cosx<0
@ 0<tanx<1

® -1<cosx<0
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@OSSinxsl

@ -2<sinx<-1
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D x=90° y=45° @)x=15°, y=15°

® x=90° y=190° @ x=50° y=40°

® x=40° y="50°

1
x:y:§><90°:45°




14. g I A 5.0ptAB = 12¢m , ZADB = 35° , Z/AOC — 140° &
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@ 20cm @ 2lcm ® 22cm @ 23cm @24cm
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15. v 2™ 2x+ 2y & 2717

@ 100° @ 130° @150°
@ 160° ® 170°

Hofl HAst= Arztaoll A tizhe] 9F2 180° o]|B=
/x =180°-110° = 70°

Ly =180°-100° = 80°

S Lx+ Ly ="T0°+80°=150°




